Math F113X: Numbers and Society

Worksheet 1: Intro to Voting Theory
Group Names: S ° [uﬁ baaly

1. A class is voting on what kind of ice cream to have. The choices are strawberry (S), chocolate
(C), and vanilla (V). The students in the class ranked their ice cream choices as in the
following table.
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(a) How many possible columns can there be in a preference schedule for this ranking?
How many columns does your preference schedule need?
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(b) Fill in the preference schedule below. Add columns as you need to.
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(d) How many votes are needed for a majority winner? Is there a majority winner? Explain
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(e) Do you think the plurality winner accurately represents the class’s preference for ice
cream? Explain your answer in a sentence or two.
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2. A group of 42 moviegoers is asked to rank the following three movies: “Inside out 2”7, “Dead-
pool and Wolverine”, and “Despicable Me 4”. Their results are provided in the following
preference schedule:
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(b) How many voters are needed to have a majority of the votes? 02 2L
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(c) What is the minimum number of votes needed for a movie to have a plurality of the

(a) How many voters were there?

Why?
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(d) Find the winner using Plurality Voting, if one exists. Write a sentence to explain
your answer to a classmate. 1S Hae Lozl
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(e) Is there a Condorcet winner? Show some work and explain your answer. Compare
your answer to your answer from (d) about a plurality winner.

Chack all head -+ kead wiodcheps.

number |/, 9 8 5 6
\r e DM of voters ° P
1st choice || Deadpool DEle Inside Out | Inside Out el
Me Me
2nd N N § | Despicable 1 m
2-2- v s 20 choice Tnside Out | Deadpool | Deadpool | Me Inside Out m AW a‘ S
3rd4 Despicable Inside Out Despicable Deadpool | Deadpool
choice Me Me e i 4“ “,0,\
—
ON&
number 14 9 8 5 6 —
of voters
VQ o 1st choice || Deadpool ?I{;spluable Inside Out | Inside Out \DIZSPIC‘(LME - w ~ M“J
2nd. Inside Out | Deadpool | Deadpool Despicable Inside Out
choice Me + '
93 ve 14 e (B e B o o morcheps.
« Deod pool s
number 14 9 8 5 6
1 O of voters +.
DM V s 1st choice || Deadpool IT\);splcable Inside Out | Inside Out E&Spl(‘ﬂh]e | M wM b rCL
" 2nd ‘ Despicable .
choice Inside Out | Deadpool | Deadpool Me Inside Out \ -~
2 ‘ S 3rd Despicable . Despicable w (
. Inside Out Deadpool Deadpool
choice Me Me




